
 

 

 

 

10+ Questions to help you gain confidence in this topic.  

1 ▶ 2022 LCHL Paper 1 – Question 2 (b)   ☐     

2 ▶ 2018 LCHL Paper 1 – Question 1 (a)   ☐ 

3 ▶ 2014S LCHL Paper 1 – Question 4 (a)   ☐  

4 ▶ 2013 LCHL Paper 1 – Question 2 (b)   ☐ 

5 ▶ 2010 LCHL Paper 1 – Question 2 (a)   ☐ 

6 ▶ 2007 LCHL Paper 1 – Question 2 (a)   ☐ 

7 ▶ 2002 LCHL Paper 1 – Question 2 (a)    ☐ 

8 ▶ 2000 LCHL Paper 1 – Question 2 (a)    ☐ 

9 ▶ 1996 LCHL Paper 1 – Question 2 (a)   ☐ 

10 ▶ 1994 LCHL Paper 1 – Question 1 (b)   ☐ 

 

+11 ▶ 1983 LCHL Paper 1 – Question 2 (a)  ☐ 

 
 

Visit www.mathspoints.ie for  

worked solutions to these questions. 
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1 ▶ 2022 LCHL Paper 1 – Question 2 (b) (ii) 

The areas of three regions 𝐊, 𝐋 and 𝐍 give the following three equations. 

4𝑎 + 3𝑏 + 3𝑐 = 807 

28𝑎 + 9𝑏 + 3𝑐 = 879 

76𝑎 + 15𝑏 + 3𝑐 = 663 

Solve these equations to find the values of 𝑎, 𝑏 and 𝑐. 
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2 ▶ 2018 LCHL Paper 1 – Question 1 (a) 

Solve the simultaneous equations. 

2𝑥 + 3𝑦 − 𝑧 = −4 

3𝑥 + 2𝑦 + 2𝑧 = 14 

𝑥 − 3𝑧 = −13 
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3 ▶ 2014 LCHL Sample Paper 1 – Question 4 (a) 

Solve the simultaneous equations: 

2𝑥 + 8𝑦 − 3𝑧 = −1 

2𝑥 − 3𝑦 + 2𝑧 = 2 

2𝑥 + 𝑦 + 𝑧 = 5 
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4 ▶ 2013 LCHL Paper 1 – Question 2 (b) 
Solve the simultaneous equations 

𝑥 + 𝑦 + 𝑧 = 16 
5

2
𝑥 + 𝑦 + 10𝑧 = 40 

2𝑥 +
1

2
𝑦 + 4𝑧 = 21 
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5 ▶ 2010 LCHL Paper 1 – Question 2 (a) 

Solve the simultaneous equations 

2𝑥 + 3𝑦 = 0 

𝑥 + 𝑦 + 𝑧 = 0  

3𝑥 + 2𝑦 − 4𝑧 = 9 

 



      

 

7 

6 ▶ 2007 LCHL Paper 1 – Question 2 (a) 

Without using a calculator, solve the simultaneous equations 

𝑥 + 𝑦 + 𝑧 = 2 

2𝑥 + 𝑦 + 𝑧 = 3 

𝑥 − 2𝑦 + 2𝑧 = 15 

 



      

 

8 

7 ▶ 2002 LCHL Paper 1 – Question 2 (a) 

Solve without using a calculator, the following simultaneous equations: 

𝑥 + 2𝑦 + 4𝑧 = 7 

𝑥 + 3𝑦 + 2𝑧 = 1 

−𝑦 + 3𝑧 = 8 
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8 ▶ 2000 LCHL Paper 1 – Question 2 (a) 

Solve for 𝑥,  𝑦,  𝑧 

3𝑥 − 𝑦 + 3𝑧 = 1 

𝑥 + 2𝑦 − 2𝑧 = −1 

4𝑥 − 𝑦 + 5𝑧 = 4 
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9 ▶ 1996 LCHL Paper 1 – Question 2 (a) 

Solve for 𝑥, 𝑦, 𝑧 

𝑥 + 𝑦 − 𝑧 = 0 

𝑥 − 𝑦 + 𝑧 = 4 

𝑥 − 𝑦 − 𝑧 = −8 
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10 ▶ 1994 LCHL Paper 1 – Question 1 (a) 

Solve the simultaneous equations 

3𝑥 + 5𝑦 − 𝑧 = −3 

2𝑥 + 𝑦 − 3𝑧 = −9 

𝑥 + 3𝑦 + 2𝑧 = 7  
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11 ▶ 1983 LCHL Paper 1 – Question 2 (a) 

Solve  

2𝑥 + 𝑦 + 𝑧 + 7 = 0 

𝑥 + 2𝑦 + 𝑧 + 8 = 0 

𝑥 + 𝑦 + 2𝑧 + 9 = 0  

 


